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CROSSWORD IN TWO PARTS

In each clue, the missing word is the answer.
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The crossword is divided into two parts. Why? (If you
read aloud the words in each part, you can hear the reason.)
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Which Medicine?
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A has got a HEADACHE, so Number 4 is the best
medicine.

B has got a COLD, so Number 6 is the best medicine.

C has got a TOOTHACHE, so Number | is the best
medicine.

D has got a STOMACHACHE, so Number 3 is the best

medicine.

has got a COUGH, so Number 5 is the best medicine.

has got a BACKACHE, so Number 2 is the best

medicine.

mm

Remember: it is also possible to say ‘toothache’,
‘stomachache’ and ‘backache’ without ‘a’ (‘I've got
toothache’, etc.).

Song Titles
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Remember: the -ing form of ‘dance’ is ‘dancing’

(not ‘danceing’).

The song about the future is ‘What are you doing Sunday?’
(You can also say ‘What are you doing on Sunday?’)

A Chemical Code
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Bottom Half Only
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Answer to question:

BATHROOM

Crossword in Two Parts
Page 24
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All the words include the letters TH. In the first part of
the crossword, the pronounciation is ‘soft’, /6/; in the
second part of the crossword, the pronunciation

is ‘hard’, /0/.

Road Signs
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Eye Test
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